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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2019 

 

Subject Name : Design of Machine Elements 
 

Subject Code : 2TE05DME1   Branch: Diploma (Mechanical) 
    

Semester : 5         Date : 16/11/2019   Time : 10:30 To 01:30   Marks : 70 
 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 1 Which stress is induced in cylinder wall due to side thrust of the piston? 

a)  Axial stress      b) Hoop stress      c) Longitudinal stress   d) Bending stress 
 

 2 Why are mechanical springs used? 

a) To apply force    b) To store energy   c) To measure force   d) All of the above 
 

 3 The sleeve or muff coupling is designed as a 

a) Thin cylinder     b) Hollow shaft     c) Thick cylinder      d) Solid shaft 
 

 4 Section modulus of a beam is always given by formula 

Πd^3/32            b) bd^2/6         c) I/y(max)          d) I/y 
 

 5 Which type of stress is induced in a screw thread ?  

a) Torsional shear stress       b) Buckling load          c) Bearing pressure   
 

 6 In design process, which step is followed after defining the problem? 

a)  Analysis          b) Synthesis        c) Optimization           d) Evaluation 
 

 7 Stress induced on contact area between cotter and socket collar is ______ 

a) Tensile stress  b) Direct shear stress  c) Crushing stress d) None of the above 
 

 8 Which of the following ergonomic factors are encountered in engineering 

applications? 

a) Thermal radiations   b) Lubrication failure    c) Fatigue     d) Corrosion 

 

 9 What is the step ratio for R40 series? 

a) 1.44                b) 1.05                 c) 4.0                d) 0.4 

 

 10 Punching operation is an example of 

a)  Static load    b) Impact load    c) Fluctuating load    d) None of the above 

 

 11 Which material cannot be used to manufacture shafts? 

a) Plain carbon steels   b) Cast iron   c) Both a. and b.  d) None of the above 

 

 12 Which type of screw fasteners are threaded at both the ends? 

a) Through bolt       b) Tap bolt       c) Studs        d) All of the above 

 

 13 Universal coupling is a type of ____ 

a) Flexible coupling            b) Rigid coupling           c) Both a. and b.   

 

 14 What is the S.I unit of kinematic viscosity?  
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a)  N-s / m
2             

b) m
2
 / s           c) N-s m

2             
d) None of the above 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions  

 A Write various types of riveted joints with neat sketch and explain failure of riveted 

joint.  
(07) 

 B What is standardization? State its importance. (07) 

Q-3  Attempt all questions  

 A Discuss the main factors affecting the design of machine elements. (07) 

 B Write difference between ‘V’ Threads and Square Threads. (07) 

Q-4    

  Design a cotter joint to support a load varying from 120KN tension. The material used 

is carbon steel for which following allowable stresses may be used. The load is 

applied statically.Tensile stress = 80 MPa. Shear stress = 45 MPa Crushing stress = 

190 MPa 

(14) 

Q-5  Attempt all questions  

 A Explain the difference between clutch and coupling. (07) 

 B A closed coil helical spring has 20 turns of 16 mm diameter rod.  The mean coil 

diameter is 160 mm. the spring carries axial load of 1.2 KN. If G = 84 GPa, find 

1) maximum value of shearing stress 

2) deflection of spring 

3) spring stiffness 

(07) 

Q-6  Attempt all questions  

 A Thickness of a thin cylinder having 500 mm internal diameter is 20 mm. the cylinder 

is subjected to internal pressure of 2 N/mm
2
. Determine hoop stress, longitudinal 

stress and shear stress for the cylinder. 

 

 B Explain construction of antifriction bearing with figure.  

Q-7  Attempt all questions  

 A A bell crank lever is to be designed to lift the load of 10 KN acting at the end of short 

arm of the lever. The length of short and long arm is 500 mm and 750 mm 

respectively. Allowable shear stress and tensile stress for lever and pin materials is 60 

N/mm
2
 and 80 N/mm

2
 respectively. Allowable bearing pressure for pin material is 8 

N/mm
2
. Determine the dimension of the fulcrum pin.  

For pin, L/d = 1.25 

(07) 

 B What is coupling? Explain types of coupling and write their applications.  (07) 

Q-8  Attempt all questions  

 A State the function and explain design procedure of leaf spring (07) 

 B Explain design procedure of shaft in detail. (07) 
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ગજુયાતી 

Q-1  Attempt following MCQs: (14)  
 ૧ ઩ીસ્ટન ના સાઈડ થ્રસ્ટ ના રીધે સીરીન્ડય ભાાં કમો સ્રેસ ઉદબલ ેછે. 

૧) અક્ક્ષિમર સ્રેસ             ૩) રોન્ીટયડુીનર સ્રેસ  
૨) હ઩ૂ સ્રેસ                    ૪) ફને્ડીંગ સ્રેસ   

 

 ૨ ભીકેનીકર સ્પસ્રિંગ ળા ભાટે ઉ઩મોગી છે. 
૧) પોસસ આ઩લા ભાટે                  ૩) પોસસ ભા઩લા ભાટે 
૨) એનજી સ્ટોય કયલા ભાટે           ૪) ઉ઩યોષત ફધા  

 

 ૩ સ્રીલ અને ભપ કપ્રીંગ ળનેા ભાટે ડીઝાઈન કયલાભાાં આલ ેછે. 
૧) થીન સીરીન્ડય   ૨) હોરો ળાફ્ટ    ૩) થીક સીરીન્ડય  ૪) સોરીડ ળાફ્ટ  

 

 ૪ નીચનેા ભાાંથી ક્ાાં સતુ્ર દ્વાયા સષેસન ભોડ્ુાંરસ ભ઱ે છે. 
૧) Πd^3/32            ૨) bd^2/6         ૩) I/y(max)          ૪) I/y 

 

 ૫ સ્ુ થ્રડે ભાાં ક્ાાં રકાય નો સ્રેસ ઉત્઩ન થામ છે. 
૧) ટોસસનર ળીમય સ્રેસ   ૨) ફષરીંગ રોડ      ૩) ફીમયીંગ રસેય 

 

 ૬ ડીઝાઈન ઩દ્ધતત ભાાં રોબ્રભે નક્કી કમાસ ઩છી કયુાં સ્ટે઩ કયલાભાાં આલે છે. 
૧) એનારીસીસ   ૨) તસન્થટેીક    ૩) ઓપ્ટીભાઈઝસેન   ૪) એલોલયુાંસન 

 

 ૭ કોટય અન ેસોકેટ કોરય ના કોન્ટેષટ એરયમા ઩ાસ ેક્ા રકાય નો સ્રેસ ઉત્઩ન થામ છે. 
૧) ટેન્સાઈર સ્રેસ                   ૩) કતસિંગ સ્રેસ  
૨) ડામયેષટ ળીમય સ્રેસ             ૪) ઉ઩યોષત એક ઩ણ નહી 

 

 ૮ નીચનેા ભાાંથી ક્ા ઈગોનોતભક પેષટય એન્ીનીમયીંગ ઉ઩મોગ ભાાં ગણલાભાાં આલ ેછે. 
૧) થભસર યેડીએસન               ૩) પટીગ  
૨) લુાંબ્રીકેસન પેઇલમોય            ૪) ખલાણ 

 

 ૯ R40 સીયીસ ભાટે સ્ટે઩ ગણુોતય શુાં છે. 
૧) ૧.૪૪       ૨) ૧.૦૫       ૩) ૪.૦         ૪) ૦.૪  

 

 ૧૦ ઩ાંચચિંગ ઓ઩યેસન ળનેુાં ઉદાયણ છે. 
૧) સ્ટેરટક રોડ  ૨) ઇમ્઩ષેટ રોડ  ૩) ફ્ષચયુાંટીંગ રોડ  ૪) ઉ઩યોષત એક ઩ણ નહી. 

 

 ૧૧ નીચનેા ભાાંથી કયુાં ભટીયીમર ળાફ્ટ ફનાલલા ભાાં ઉ઩મોગ થત ુનથી. 
૧) પ્રને કાફસન સ્ટીર          ૩) ફન્ન ે 
૨) કાસ્ટ આમનસ                ૪) ઉ઩યોષત એક ઩ણ નહી. 

 

 ૧૨ ફન્ન ેછેડે આટા ક્ાાં સ્ુ પાસનય ભાાં હોમ છે. 
૧) થ્ર ુફોલટ      ૨) ટે઩ ફોલટ        ૩) સ્ટડ        ૪) ઉ઩યોષત ફધા  

 

 ૧૩ યતુનલસસર કપ્રીંગ એ  ક્ાાં રકાય ની કપ્રીંગ છે. 
૧) ફ્રચેિફર કપ્રીંગ     ૨) યીીડ કપ્રીંગ      ૩) ફન્ને (૧) અને (૨)  

 

 ૧૪  કામનભેરેટક તલસ્કોતસટી નો એસ.આઈ એકભ શુાં છે. 
૧) N-s / m2             ૨) m2 / s           ૩) N-s m2             ૪) ઉ઩યોષત એક ઩ણ નહી  

 

    

                        નીચનેા Q-2 to Q-8 ભાાંથી કૉઇ઩ણ ચાય રખૉ. 
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Q-2  Attempt all questions  
 (અ) યીલટેેડ જોઈંન્ટના જૂદા જૂદા રકાયો આક્રૂતત સરહત ટુાંકભા સભજાલો અન ેતનેા તલતલધ પેલમોય સભજાલો. (07) 
 (ફ) સ્ટાન્ડડાઈઝેશનની અગત્યતા સમજાવી તેના મખુ્ય ઉ઩યોગ જણાવો. (07) 

Q-3  Attempt all questions  
 (અ) માંત્રના ઘટકોની ડીઝાઈન ન ેઅસય કયતા મખુ્મ ઩રયફ઱ો જણાલો. (07) 
 (ફ) ‘લી’ થ્રડે અન ેસ્ષલયે થ્રડે નો તપાલત રાખો. (07) 

Q-4  Attempt all questions  
 (અ) ૧૨૦ kN સધુી ચચરત થતા તણાલ ફ઱ ભાટે કોટય જોઈન્ટની ડીઝાઈન કયો. કાફસન સ્ટીર ભટીયીમર ભાટે 

એરોલફેર સ્રેસ નીચે મજુફ છે. ફ઱ સ્ટેરટકરી રાગે છે. ટેન્સાઇર સ્રેસ=80 MPa, ળીઅય સ્રેસ=45 MPa, ક્રળીંગ 

સ્રેસ=190 Mpa. 

(14) 

Q-5  Attempt all questions  
 (અ) ષરચ અન ેકપ્રીંગ નો તપાલત રાખો. (07) 
 (ફ) એક ષરોઝ કોઈર હરેીકર સ્પસ્રિંગના ૨૦ આટા ૧૬ ભીભી ના સ઱ીમાના ફનરેા છે. સ્રીન્ગનો સયેયાળ વ્માસ 

૧૬૦ ભીભી છે.સ્પસ્રિંગ અચિમ બાય ૧.૨ KN ર ેછે.જો  
G = 84 GPa હોય તો શોધો. 
૧) શીયર સ્રેસ નુું મહત્તમ મલુ્ય 
૨) સ્પસ્રિંગ નુું ડીફ્઱ેક્સન 
૩) સ્પસ્રિંગ સ્ટીપનેશ  

(07) 

Q-6  Attempt all questions  
 (અ) ૫૦૦ ભીભી વ્માસ ના એક થીન તસરીન્ડયની જાડાઈ ૨૦ ભીભી છે અન ેસીરીન્ડય ભાાં ૨ N/mm2 નુું દફાણ 

રહતે ુું હોય તો હ઩ૂ સ્રેસ, ઱ોન્ીટયડુીન઱ સ્રેસ અને વધારે માું વધારે ઱ાગત ુું શીયર સ્રેસ શોધો. 
(07) 

 (ફ) એન્ટીફ્રીષસન ફયેીંગ ની યચના આકૃતત દોયી લણસલો. (07) 
Q-7  Attempt all questions  

 (અ) ઓછી રાંફાઈલા઱ા આભસને છેડે ૧૦ KN નો લટીકર રોડ ઉચકલા ભાટે ફરે કે્રન્ક રીલય ની ડીઝાઈન કયલાની 
છે. તનેા આભસની રાંફાઈ ૭૫૦ ભીભી તથા ૫૦૦ ભીભી છે.રીલય તથા ઩ીન ભટીયીઅર ભાટે ળીમય તથા 
ટેન્સનભાાં એરાલફેર સ્રેસ અનકુ્રભે ૬૦ N/mm2 તથા ૮૦ N/mm2 છે તથા ઩ીન ઉ઩ર એ઱ાવેફ઱ ફેરીંગ 
રેસર ૮ N/mm2 છે.ફ્઱ક્ર્મ ઩ીન ના મા઩ શોધો. ઩ીન માટે L/d = 1.25 

(07) 

 (ફ) કપ્રીંગ ની વ્માખ્મા રખી તનેા રકાય અન ેઉ઩મોગ રાખો. (07) 
Q-8  Attempt all questions  

 (અ) રીપ સ્પસ્રિંગ નુાં કામસ રખી તનેી ડીઝાઈન ઩દ્ધતત સભજાલો. (07) 
 (ફ) ળાફ્ટ ની ડીઝાઈન ઩દ્ધતત સભજાલો. (07) 

 

 


